
1

PL

Assembly instruction - bed

Instrukcja montażu - łóżko

Aufbauanleitung - bett

Návod na montáž - posteľ

  D

GB

SK

instrukcek instalaci - postelinstrukcek inCZ

FR instructions de montage - lit

Date of production:

nt
monaz

s
u

a 
ont żu

In
tr kcj

m
a

A
f auanl

u

ub

eit ng

sem

st cto

As
bly in

u
i n

Na
odna

t

v

monaz

M6x70W1 4x30 

x4 x1 x2

T Y

x18

13 mm

6a

x4

Z

M6x35

x16 + 1 gratis

1

2

3

6

4

5



2

M6x70

A A1

A2

A1

A2

W1

=

=

M6x35

Z

Y

I

II

III

1

2

3

6

6a

4



3

PL - stelaż łóżka 
ENG - bedstead 
DE - der Bettrost

IV

V

VI

5

4



4

opcja A
stelaż metalowy
wooden metal
Holz Metall

M6x35

x6 + 1 gratisx1 + x1

opcja B
stelaż drewniany
wooden frame
Holzrahmen

M6x35

x8 + 1 gratisx1 + x1

2 3

2 3


	Strona 1
	Strona 2
	Strona 3
	Strona 4

